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#include<bits/stdc++.h>
using namespace std;

CVBB ACM Team - https://wiki.cvbbacm.com/


https://ac.nowcoder.com/acm/contest/5667#question

Last

;ggg}:g;/ﬂ 2020-2021:teams:die_java:front_page_summertrain2 https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:die_java:front_page_summertrain2&rev=1594977798

17:23

#define mem(a,b) memset(a,b,sizeof(a))
typedef long long LL;

typedef pair<int,int> PII;

#define X first

#define Y second

inline int read

int x=0,f=1;char c=getchar();

lisdigit(c c=='-"')f=-1;c=getchar();
isdigit(c)){x=x*10+c-'0"';c=getchar();
x*f;

const int maxn= ;

int n,q,tplmaxn],almaxn|,b/maxn|,tag/maxn<<2|,w[maxn<<2];
multiset <int> S;

multiset <int>::iterator it,it2;

void pushdown(int L,int R,int o

int mid=L+R>>1,lo=0<<1,ro=1l0|1;
tag/lo/+=taglo|;tag/ro/+=tag/o/;
w/lo/+=taglo|;wlrol+=taglo];
tagio|=0;

void update(int L,int R,int o,int ql,int gr,int v
::ql && ::q r

Wi 0|+=V;
taglo|+=v;

’

pushdown(L,R,0);
int mid=L+R>>1,lo=0<<1,ro=lo0]|1;
gr<=mid)update(L,mid, lo,ql,qr,v);
gl>mid)update(mid+1,R,ro,ql,qr,v);
update(L,mid,lo,ql,mid,v),update(mid+1,R, ro,mid+1,qr,v);

int query(int L,int R,int o,int qgx

L==R wiol;
pushdown(L,R,0);
int mid=L+R>>1,lo=0<<1,ro=lo0]|1;
gx<=mid query(L,mid, lo,qgx);
query(mid+1,R,ro,gx) ;

void insert(int A
int pos=lower bound(b+1,b+n+1,A)-b,1,r;

it=S. lower bound(A);
it!=S.end && it!=S.begin
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it--;it2=it;it++;

1=lower bound(b+1,b+n+1, (*it)-*(it2))-b;

r=lower bound(b+1,b+n+1, (*it)+*(it2))-b-1;
*¥1t-*it2==b[1]) 1++;

update(l,n,1,1,r,-1);

it!=S.end

1=lower bound(b+1,b+n+1,*it-A)-b;

r=lower bound(b+1,b+n+1,*it+A)-b-1;
*Pt-A==b[1]) 1++;

update(l,n,1,1,r,1);

it!=S.begin

it--;it2=it;it++;

1=lower bound(b+1,b+n+1,A-*it2)-b;

r=lower bound(b+1,b+n+1,*it2+A)-b-1;
A-*it2==b[1])1++;

update(l,n,1,1,r,1);

S.insert(A);
void delt(int A

int pos=lower bound(b+1,b+n+1,A)-b,1,r;
it=S.find(A);
S.erase(it);
it=S.lower bound(A);
it!=S.end() && it!=S.begin

it--;it2=1it;it++;

1=lower bound(b+1,b+n+1, (*it)-*(it2))-b;

r=lower bound(b+1,b+n+1, (*it)+*(it2))-b-1;
¥1t-*it2==b[ 1] ) 1++;

update(1,n,1,1,r,1);

it!=S.end

1=lower bound(b+1,b+n+1,*it-A)-b;

r=lower bound(b+1,b+n+1,*it+A)-b-1;
*it-A==b[1]) 1++;

update(l,n,1,1,r,-1);

it!=S.begin

it--;it2=it;it++;

1=lower bound(b+1,b+n+1,A-*it2)-b;

r=lower bound(b+1,b+n+1,*it2+A)-b-1;
A-*it2==b[1]) 1++;
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update(1,n,1,1,r,-1);

void ask(int x
int pos=lower bound(b+1,b+n+1,x)-b;
query(l,n,1,pos))puts("Yes");
puts("No");
int main
g=read();
int i=1;i<=q;i++)tplil=read(),alil=blil=read();
sort(b+1,b+qg+1);
n=unique (b+1,b+g+1)-b-1;
b n+tl|=1e9;
int i=1;i<=q;i++
tplil==1)insert(alil);

tplil==2)delt(alil);
ask(alil);
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#include<bits/stdc++.h>

using namespace std;

#define mem(a,b) memset(a,b,sizeof(a))
typedef long long LL;

typedef pair<int,int> PII;

#define X first

#define Y second

inline int read

int x=0,f=1;char c=getchar();

lisdigit(c c=="'-")f=-1;c=getchar();
isdigit(c)) {x=x*10+c-'0"';c=getchar();
x*f;

const int maxn=100010;

int n,k,tolmaxn!,colimaxn]|,cnt,size[maxn],ans[maxn/;
bool vis[maxn];

vector <int> V[maxn];

int main

n=read();k=read();
int i=1;i<=n;i++)tolil=read();
int i=1;i<=n;i++
lvis[i

col[i]=++cnt;
Vlcnt].push back(i);
int now=i;
lvis|[to[now
Vlcnt].push back(to[now]),
vis[tolnow! |=1,col[tolnow]|=cnt,
now=to[now|,sizel[cnt]++;

int i=1;i<=cnt;i++
sizelil==1)ans[V[i][0]]=VI[i][0];
int m=k%sizel[i],x=0;
x*m%sizel[i] !=1)X++;
int j=0;j<V[i].size();j++

int now=Viil[j/;
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ans|[V[il[jl1=VI[i][(j+x)%size[i]];

int i=1;i<n;i++)printf("%d ",ans[i]);
printf("%d\n",ans/n]);
0;
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#include<algorithm>
#include<iostream>
#include<cstdlib>
#include<cstring>
#include<cstdio>
#include<vector>
#include<queue>
#include<cmath>
#include<map>
#include<set>
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#define LL long long int

#define REP(i,n) for (int i 1; i <= (n); i++)

#define Redge(u) for (int k = h[u],to; k; k = ed[k].nxt)

#define cls(s,v) memset(s,v,sizeof(s))

#define mp(a,b) make pair<int,int>(a,b)

#define cp pair<int,int>

using namespace std;

const int maxn = 250005,maxm = 100005;

const LL INF = 100000000000000000011;

inline int read

int out = 0,flag = 1; char ¢ = getchar();

C <48 || ¢ > 57 c == "'-') flag = 0; c = getchar();
c >= 48 && ¢ <= 57){out = (out << 1) + (out << 3) + c - 48; c =

getchar();
flag ? out : -out;

int himaxn],ne;

struct EDGE
int to,w,nxt;

ed/maxn * 21];

void build(int u,int v,int w
ed ++ne|] = (EDGE){v,w,h[ul}; hiul = ne;
ed[++ne] = (EDGE){u,w,h[v]}; hiv] = ne;
//printf("build %d to %d costs %d\n",u,v,w);

int C[505][505],R[505][505];
int n,m,S,T;
int id(int x,int y

X *¥ (x -1/ 2+y;

LL d/maxn],vis/maxn/;

struct node{int u; LL d;};

inline bool operator <(const node& a,const node& b a.d > b.d;
priority queue<node> q;

void dijkstra

int i =1; 1 <=T; i++) d[i] = INF,vis|[i] = false;
d[S] = 0;
node u;
g.push((node){S,d|S ;
Iq.empty
u=gq.top(); q.pop();
vis|u.u ;
visiu.u| = true;
Redge(u.u lvis/to = ed/k].to] && d/to] > dlu.u] + ed[k].w

ditol = dlu.ul + ed[k].w;
g.push((node){to,d|to ;

int main
n =read(); m = read();
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int 1,r,w; char c;

int i = 1; i <= m; i++

1l =read(); r = read(); scanf("%c",&c); w = read();
c =="'L") RIllIr] = w;
CIllllr] = w;

int i =1; i <=n - 1; i++
int j =1; j <= 1; j++
//puts("LXT");

//printf("[%d,%d] [%d,%d]\n",i + 1,7 + 1,1 + 1,j);

//cout << C[1 + 1][] + 1] << '

''<< R[1 + 1][j] << endl;

] <1& C[j + 1][1 + 1 build(id(i,j),id(i,j + 1),Cl[j +
1]1[1 + 1]);
i<n-1& R[jI[1 + 1 build(id(i,j),id(i + 1,j),R[jI[1i
+ 1]);
S=0; T=n*(n-1)/2+1;
int i =1; i <=n - 1; i++ C[1][1i + 1
build(S,id(i,1),Cl[11[i + 1]);
int 1 =1; 1i<=n - 1; i++ Riil[n build(id(n -
1,i),T,R[i]l[n]);
dijkstra();
d/T|] != INF) printf("slld\n",d[T]);
puts("-1");
0;
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